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Question Number : 1 Question Id : 698177307 Question Type : MCQ Option Shuffling : Yes Is
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Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The ‘Self-actuahsing’ tendency 1s asserted by this psychologist in his theory of
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Question Number : 2 Question Id : 698177308 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0
In creative thinking proceee, the stage of rest during which sclution is evolved
through the efforte of unconsecious mind ie
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Question Number : 3 Question Id : 698177309 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

According to Bruner, learning in real sense can take place only by means of

discovery. Therefore, a teacher should
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Majorly use ‘recall’ questions.

grrRonT ‘B b’ @HE o 6HarfoTed

3. %

Support and encourage a questioning frame of mind among pupils
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Question Number : 4 Question Id : 698177310 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
‘In teaching - learning activity, the performance of student iz the result of
teacher efficiency’. The ‘performance’ in this statement is
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Question Number : 5 Question Id : 698177311 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A child acquires the concept of ‘object permanence’ during this stage of Piaget's
cognitive development
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Question Number : 6 Question Id : 698177312 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



‘No two individuals are same, even identical twins’, can be explained by this
principle of development
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Question Number : 7 Question Id : 698177313 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A child was asked by his parents to stay with his grandfather till they attend a
wedding. The child agreed with a condition to permit him to eat ice cream. The

child 15 1n this stage of Moral development according to Kohlberg
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Stage IV of conventional level
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Question Number : 8 Question Id : 698177314 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The NCF 2005 has recommended that this is to be used as a pedagogic medium
in knowledge acquisition, development of values and multiple skill formation
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health and physical education
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Question Number : 9 Question Id : 698177315 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 10 Question Id : 698177316 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The development of the child that can be tracked even before birth
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Question Number : 11 Question Id : 698177317 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

One of the following i=e NOT a cognitive ability
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Respiration

4. ?‘éiﬁlé’fj

Question Number : 12 Question Id : 698177318 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Omne of the following behaviors indicates that learning does NOT necessarly imply

improvement among individuals
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Maintaining Cleanliness
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Question Number : 13 Question Id : 698177319 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

One of the following does NOT help in building good teacher learner relationship
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Question Number : 14 Question Id : 698177320 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The process by which a person varies his behaviour to produce more harmonious

relationship between himself and environment is
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Question Number : 15 Question Id : 698177321 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

One of the following is a feature of learner-centrie approach
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Question Number : 16 Question Id : 698177322 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A researcher wanted to study zocial development aspect of children and selected
grade 2 studente in a school. He started observing the children without children
noticing him in varigue situations, ie. at echool and sometimes gutside school
including their home =0 that he makes note of their behavipur in natural
eettings. The method employed by the rezearcher here iz
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Question Number : 17 Question Id : 698177323 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

One of the following may lead to emotional hazards in children
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Question Number : 18 Question Id : 698177324 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
One of the following iz NOT a cause of forgetting
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improper storage
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Question Number : 19 Question Id : 698177325 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The theory that emphasizes that ‘Learning through observation and modeling
proves to be an effective means of learning’
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Question Number : 20 Question Id : 698177326 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
One of the following does NO'T help in sustenance of motivation
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Question Number : 21 Question Id : 698177327 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Behaviour 2o often repeated as to be automatic is
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Question Number : 22 Question Id : 698177328 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Ag per the norms and standards given in the Schedule of the RTE Act, 2009, the
number of teachers required for up to eixty etudents for classee one to five is
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Question Number : 23 Question Id : 698177329 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Identify the correct statement relating to ‘personality’
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Personality includee all the behavipur patterns of a person — cognitive,

affective and conative
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Question Number : 24 Question Id : 698177330 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
The amgunt given per month ag stipend to CWEN girls under Samagra
Shiksha scheme is
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Question Number : 25 Question Id : 698177331 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

In providing education to the mentally retarded children, this approach may be

coneidered as appropriate
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Question Number : 26 Question Id : 698177332 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The three forme of language as they appear in an individual from two years of
age upwards according to Vygoteky 1=
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oocial epeech, private speech, inner speech
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Question Number : 27 Question Id : 698177333 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Programmed learning is the application of
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claezical conditioning theory of learning

5 S
Litolo R alolaty ?::.';r:-éo

operant eonditioning theory of learning

FHRFGE Noodd horodo

trial and error theory of learning
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Question Number : 28 Question Id : 698177334 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

One of the following is NOT a mnemonic device
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Question Number : 29 Question Id : 698177335 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In learner centred environment,
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student constructs knowledge
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Question Number : 30 Question Id : 698177336 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

One of the following iz NOT an activity of pre-active phase of teaching
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Sub questions

Question Number : 36 Question Id : 698177344 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Options :



Question Number : 37 Question Id : 698177345 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 38 Question Id : 698177346 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 39 Question Id : 698177347 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 40 Question Id : 698177348 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Sub-Section Number : 3
Sub-Section Id : 69817720
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 41 Question Id : 698177349 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 42 Question Id : 698177350 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 43 Question Id : 698177351 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 44 Question Id : 698177352 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Question Number : 45 Question Id : 698177353 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

‘BHN0T SR

Options :



3 % #8% HalmEro

dy
i)
[

2a
£,
=
o

£n

Question Number : 46 Question Id : 698177354 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 47 Question Id : 698177355 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 48 Question Id : 698177356 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 49 Question Id : 698177357 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 50 Question Id : 698177358 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 51 Question Id : 698177359 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
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Question Number : 52 Question Id : 698177360 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 53 Question Id : 698177361 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Question Number : 54 Question Id : 698177362 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 55 Question Id : 698177363 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Question Number : 56 Question Id : 698177364 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 57 Question Id : 698177365 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 58 Question Id : 698177366 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 59 Question Id

: 698177367 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 60 Question Id

: 698177368 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Language II English
Section Id : 69817713
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 26
Number of Questions to be attempted : 26
Section Marks : 30
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Maximum Instruction Time : 0

Sub-Section Number :



Sub-Section Id : 69817721
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Id : 698177369 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Question Numbers : (61 to 65)
Question Label : Comprehension

Read the following passage and answer the guestions from 61-65. Choose the correct option
for each question.

Cardamom, the Queen of all spices, has a history as old as the human race. It is the dried fruat
of a herbaceous perenmal plant. Warm hunud climate, loamy soil rich i organic matter, distributed
rainfall and special cultivation and processing methods all combine to make Indian cardamom truly
unique in aroma, flavour, size and it has a parrot green colour. Two tvpes of cardamom are
produced in India. The first type 1s the large one, which has not much significance as 1t 1s not traded
in the future market. It 1s cultivated in North-eastern area of the country. The second type is
produced m the Southern states and these are traded in the future market These are mainly
cultivated in Kerala, Tanul Nadu and Kamataka. As per the future market rules. only 7 mm quality
was previously traded in exchanges. But later, it relaxed its norms, and now 6 mm quality 1s also
traded 1n the exchanges. The small vanety, known for its exotic quality throughout the world. 1s
now traded in India’s commodity future exchanges. Traditional auction markets also exist for
trading in small cardamom in the country.

Cardamom 1s an expensive spice, second only to saffron. It 15 often adulterated and there are
many inferior substitutes from cardamom-related plants such as S1am cardamom, Nepal cardamom,
Winged Java cardamom, etc. However, it 1s only Elettaria cardamom which is the true cardamom.
Indian cardamom 15 known m two mamn vaneties: Malabar cardamom and Mysore cardamom.

Sub questions

Question Number : 61 Question Id : 698177370 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the following quality does NOT contribute for the uniqueness of the Indian
cardamom?”

Options :

1 % its size



1ts flavour

1ts aroma

3. %

4 its price

Question Number : 62 Question Id : 698177371 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

As per the passage, which of the following statement 1s correct?
Options:

1 % Saffron i1s an expensive spice, second only to cardamom.

Saffron 1s as expensive as cardamom.

2.
3 Cardamom 15 an expensive spice, second only to saffron.
4 Saffron 1s the most expensive spice.

Question Number : 63 Question Id : 698177372 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

As per the passage. which 1s the true cardamom?



Options :

Siam cardamom

2 Elettaria cardamom

3 % Nepal cardamom

Winged Java cardamom

Question Number : 64 Question Id : 698177373 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The variety of cardamom that 1s traded in future market 1s being produced in
Options :

the North-eastern states of the country.

the Southern states of the country.

the Western states of the country.

the Eastern states of the country.

4. %

Question Number : 65 Question Id : 698177374 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

As per the passage, one of the two main varnieties of Indian cardamom 1s
Options :

1. & Malabar cardamom

> % Konkan cardamom

Koramandal cardamom

3.

4 % Utkal cardamom

Sub-Section Number : 2
Sub-Section Id : 69817722
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 66 Question Id : 698177375 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Thew the meeting at 10 PM yesterday.

Choose the correct option to complete the sentence.
Options :
winded up

1. %

wounded up

2. %

3 wound up



wind up

Question Number : 67 Question Id : 698177376 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Even on the verge of defeat. he to give up so easily.

Choose the appropriate word to complete the sentence.
Options:

1 % accepted

9 o refused

3 % agreed

convinced

4, #

Question Number : 68 Question Id : 698177377 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The merchant said, “If you agree the proposal. I shall give you my horse.” Choose the
appropriate word to complete the sentence.

Options:

in



over

4\_‘{'1’0

Question Number : 69 Question Id : 698177378 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The tiger 1s waiting to jump on the deer.

Choose appropriate word to fill in the given blank.
Options :
impatient

1. %

> % patience

3 patiently

% patient

Question Number : 70 Question Id : 698177379 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The comumittee will looking into the matter in its next meeting.

Identify the suitable word to make the sentence complete.



Options :

1. be

have

being

4. % has

Question Number : 71 Question Id : 698177380 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Choose the correct option 1in which the jumbled words are ordered.

hard work /combination / 1s /and discipline/Success [ the / of

Options :

Success 15 the hard work and discipline of combination.

Hard work and discipline 1s the combination of success.

Success 15 the discipline and combination of hard work.

Success 15 the combination of hard work and discipline.

Question Number : 72 Question Id : 698177381 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

A large group of elephants 1s called
Options :

a fleet of elephants

a flock of elephants

a herd of elephants

a bunch of elephants

4. %

Question Number : 73 Question Id : 698177382 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Choose the INCORRECT sentence.

Options :

1 % She went to Dellu to attend the UPSC mnterview.

She went to Dellu for attending the UPSC interview.

3 % She went to Delhi in order to attend the UPSC mterview.

4 She went to Delhi to attending the UPSC interview.



Question Number : 74 Question Id : 698177383 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Identify the part with an error 1n the given sentence.

The father along with his son  wvisit  New York  everv vear

A B C D

Options :

Question Number : 75 Question Id : 698177384 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Let’s go to class.

Choose the correct question tag.
Options :
shall we?

1.+

shan't we?



won't we?

3. %

do we?

4. %

Question Number : 76 Question Id : 698177385 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The girl was regular to college. but she to college on that particular day.
Options:

did not going

did not went

2. #

did not gone

3, #®

4. did not go

Question Number : 77 Question Id : 698177386 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Identify the appropriate subscription for a formal letter.
Options :

Yours sincerely



Your's sincerely

2. %

3 % Yours lovingly

4 % Your s faithfully

Question Number : 78 Question Id : 698177387 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
If water 1s heated at 100 °C, 1t

Choose the correct option to complete the sentence.
Options :

1 % boiled

> % boiling

boils

4. % boiled

Question Number : 79 Question Id : 698177388 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

“A pall of gloom descended on the family after the untimely death of the man ™

Identify the antonvm for the word “descended”™ m the sentence.



Options :

1.8 declined

slanted

2. %

3 % dropped

4. ascended

Question Number : 80 Question Id : 698177389 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Choose the correct option to complete the sentence.

When Ram Fajani’s house, Rajani had already left for the airport.
Options :
reached

1.4

reaching

2. #

had reached

3, #

has reached

4. %

Question Number : 81 Question Id : 698177390 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Choose the correct reported sentence.

The teacher said to the student, “Come .~

Options :

The teacher zaid to the student to come mn.

g The teacher permitted the student come .

2.

3 The teacher permitted the student to come in.

The teacher permitted the student that she comes 1n.

Question Number : 82 Question Id : 698177391 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following 1s the silent consonant letter in the word “champagne’”?

Options :

[iL=]



Question Number : 83 Question Id : 698177392 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the correct Passive Voice sentence for the given sentence.

‘Let’s watch a movie’.

Options :
Let a movie be watched by them.

1. #

9 Let a movie be watched by us.

Let’ s a movie be watched.

3. #

4. % Let be a movie watched by us.

Question Number : 84 Question Id : 698177393 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Choose the correctly spelt word from the given options.
Options :
opportunities

1.4

5 % oppotunities

opporctunities

3. #*



apportunities

Question Number : 85 Question Id : 698177394 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Language 1s used to command. persuade. or request someone to do something, controlling
their behaviour. This language function 1s called

Options :

1 % The Interactive Function

The Fegulatory Function

The Informative Function

3. %

The Imaginative Function

4. %

Question Number : 86 Question Id : 698177395 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

This validity refers to the connections between the test items and the subjects-related tasks.
Options :

1. ¢ Content Validity

Operational Validity



3 % Face Validity

4 % Factoral Validity

Question Number : 87 Question Id : 698177396 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

These activities are essential to activate students’ background knowledge and to develop the
students’ motivation for reading

Options :

1 % Post- writing activities

Post-reading activities

2. %

3 Pre-reading activities

While reading activities

4. %

Question Number : 88 Question Id : 698177397 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

‘Appropriate paragraphing with main ideas’. This 1s a feature of the following discourse
Options :

1.



% Choreography

Speech

Essay

Invitation

4, ®

Question Number : 89 Question Id : 698177398 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The following 15 NOT a charactenistic of Micro-teaching.
Options :

It 15 an individualized training technique.

It focuses on a large-scale teaching experience.

It emphasises on specific teaching skills.

3. %

It provides immediate feedback.

4, #

Question Number : 90 Question Id : 698177399 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

A useful technique of writing down the thoughts as they come, without regard for grammar or
any other rules of writing 1s known as

Options :

Free wrniting
1.9 2

Guided writing
Imposition writing

3. %

Formal wniting

Mathematics
Section Id : 69817714
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 30
Number of Questions to be attempted : 30
Section Marks : 30
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 69817723
Question Shuffling Allowed : Yes

Is Section Default? : null



Question Number : 91 Question Id : 698177400 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Median of a data, arranged in ascending order 5, 21, 36, x.y. 75, 81 i 42 and
when one more gbeervation 78 iz added to the data, the median has become 49,

A
then the value of — =
:F
s (Baand” & x’f‘_'-c?_j-:-%c- 5 21, 36, x.y, 75, 81 ._T_JJ,‘-:.‘;;_ E;Jij;ﬁé?;ﬁ] 42, &
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¥

Options:

[
¥

Question Number : 92 Question Id : 698177401 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Read the following statemente related to sets and chooee the correct statements.

15E0de $o200dN Bob o SBE) K05 e QoHEk .

A)  If A and B are any two non-empty eete, then AN B = {x : x € Aand x € B}.
A, B en 237 Gor €88 $8e won8 ANB = {x : x € Aand x € B}.

B} If A and B are any two non-empty eete, then B— A = {x : x € Aand x € B}.
A, B en 03 Cotr dra;88 $88e won8 B—A={x : x € Aand x € B}.

C) If A and B are any two non-empty sete, then AUB = {x: x E Aorx € B}.
A, B en O3 Dotir dra88 #8bden wond AUB = {x : x € Aorx € B}.

Choose the correct answer.

108 e3P DoHE 0,
Options :

A&C only

A & CsmiEa
1'%?/;1&{:‘ |Sa

B & f' Gnl}r
B & C sir@an

A tf\r_ E Dll].y

3 % A & B smgan

AB&C

Question Number : 93 Question Id : 698177402 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

4sinf +3cos@ .
4sing —3cos®

If 3tan® — 4 = 0, then

_d4sinf + 3cos@
3tanf — 4 = 0 ®oms — =
4zind - 2cos @

Options :



1. %
7
> % 16
25
3.
a
4. % 25

Question Number : 94 Question Id : 698177403 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Area of a sector when angle of a circle at center iz *x ' and itz radiue ‘R’ ie:

- - - - [ - - = - " - - -
ol =0 e - ' - ERp Y = el B L ey
28 Sol5m $& B HB5Pessy 77 S0d ol & s 00 ‘R’ @ond REQ Joresnin:
b o [+ &2 e

Options :

o
360°

X 2mR

* _x 2nRz
360

=
X

— = X 2mR?
3.

s
720°

X 2mR




Question Number : 95 Question Id : 698177404 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The point (x, y) iz equidistant from the points (—2, —3) and (3, 2), then the
relation between x and y is:
DotHizy (x, v) &850 Dothden (—2,—3) 508050 (3,2) o H578 Srdos® il ®ont x

ol ¥ & &g dosotisin:

Options :

1. % x—y=0
5> x+y=20
3 % x+y=10
4 % x—yv =10

Question Number : 96 Question Id : 698177405 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Choose a correct statement related to similar figures from the following.

I3 R A R N W A L, Tyl o s LT N -
B0 pde® Hird Héred Somofods BTN arErd Qo 0s.

Options:

All the congruent figuree are similar.

oy
=

1.4 =

F QST S S e A S
w-ﬁ_‘: PelPa Bben HOTIPen.



Two polygone of the same number of sides are similar if their corresponding
angles are equal.
S5m0 Bogpd® haren ¥ONMS Tod oifvibere omdrd Sores SHESDE, @

H8raren B 0.

All the similar figuree are congruent.

3 % @)y B8 Heren B8, Sairaren.
Two polygone of the same number of sides are similar if their corresponding
gides are in the same prgpurtign,f ratio.
B Sogye® thearen SDAS Toth afughere edbirdeiere a8 JRs° 608, @
4 % Hirare: ©RE oD,

Question Number : 97 Question Id : 698177406 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Chooee a rational number from the following.

Bob B 08 wsthdd Sogd Nohetold.

Options:
oy 2
8+v2
2. 2
V15
3.8 ¥



. B+v2)

Question Number : 98 Question Id : 698177407 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Raju purchased 25 dozen applee for 76000. He incurred transportation charges of
7600. He could not =ell f:% dozen apples as they were apoiled. He agld remaining
apples at 300 for each dozen, then the profit or lose percent (rounded to two
decimal placee) he gete ia:

o 25 ded whd Hofin 76000 & . uEd Sorer pthod 1600 pi) TR
6= e obd Hop JFE Hto Hoi P Wi PERrdrD.

™
k=2 ol
7300 0% o ©sd 53, ord Sor 58 &0 (o Ha0¥ e $500ST):

Options:

15.91% profit

1% 15.91% erdfsm

13.64% profit
13.64% e=i5m

15.91% loss

15.91% S

13.64% los=

13.64% S
4. % ®

Question Number : 99 Question Id : 698177408 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

A metallic cube with edge 32em iz made into 8 cubee of equal volume, then the
edge (in centimeterz) of the new cube ia:
322048 woden Ko 28 G%rE) SidSind 8 HSars 8 $0srs0 fo Saivdaneor

DE00E, FErr 28,68 Habionin Gng) woh

Options :

Question Number : 100 Question Id : 698177409 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

A number ie selected randomly from first 60 natural numbers, then the
probability that it is a multiple of 5 or 7 ie:

awtiEl 60 Ksira Soge ol el Hog cfmtﬁafgbésﬁd QanEHod, 5 Oor 7 Giod

©aky; Hogras:

Options :



[

2. %
1
3. % 3
19
4 @ 60

Question Number : 101 Question Id : 698177410 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
The number of integers lie between 57 and 587 is:

577 s8cin 587 i 65, Frddonge Hogy:

Options :

| @ 114

, x 115

3 113

116

Question Number : 102 Question Id : 698177411 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Choose a chape from the following which has order of rotational eymmetry more
than 2.

Bob rde® Dol FHibe 5D H05r@o 2 ¥ob) d)site soeR) 20D s,

Options :

Semi-cirele

2o
1 % wia,d0
Rectangle
B8 S0
2. % =
Rhombus
3 % TOBR

Square

4 v SO

Question Number : 103 Question Id : 698177412 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
To draw ‘the more than cumulative frequency’ graphieally, we plot:
‘0585 H0DE TN, HEEn’ H Syrddos® Adntd:

Options :

the upper boundariez on the X-axis and the corresponding cumulative
frequencies gn the Y-axis.
X-oZ5n 2 ofbs u‘f"'(fgt.-@ s00din Y-e8:8n 2 Sonohd Kodd IrRgNmmesh

g¥ielelnil IR



the class marks on the X-axie and the corresponding cumulative
frequencies on the Y-axie.
X-ofkin 2 S608 Dfdedeos @S0dn Y-eofSn 2 Domodd Hodd

'E-?';;:':DE,'? BJ,E%J ﬁlgxﬂﬂt@

the lower boundaries on the X-axis and the corresponding cumulative

fmquenciea on the Y-axie.

X-wfin p 008 Fihod DHodh Y-efin 3 dooodd Hodd TrHbbdined
FoB0oeE).

3.¢ ~
the lower boundariee on the X-axis and the corresponding fre-quency on the
Y —axis,
X - ofw 3 &0 o 0dn Y- ofin 3 Sonodhd sri:Npmedd
hat = l'_\l

4 % roBoard.

Question Number : 104 Question Id : 698177413 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

A tree was broken due to storm and the broken part bends eo that the top of the
tree touches the ground by making 60 angle with the ground. The distance
between the foot of the tree and the top of the tree on the ground iz 9m, then the
length of the broken part of the tree (in meters) is:

28 Dty P erio T8 DONoB. ©h S 60°e Fiemo Tk 4Dl s°8oB. ey LD
grifo ob Pribd o83 e BN Siirto 9., sand HoNS Dep FeHo WS, PED
(Eo&2B o6*):

Options :



Question Number : 105 Question Id : 698177414 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

If X ={x:xisafactorof 6}, Y = {x: x is a factor of 18} and

Z= {x:x is a factor of 108}, then choose a correct statement from the follow'ing.
X = {x: x «36 6 @wE) .8 =¥erodo]), Y = {x: x 038 18 qw; 2.8 so8ewrodo} s0dim
Z= {x: x ©Rb 108 Gw¥; c.8 5=Uer0%0}, ®ond Bob AS° HTD e oS od.
Options:
| % n(0 > ()

n(XNY)=n(¥YnNZ)

3 % n(YNZ)<n(XnZ)

4 n(YNZ)= n(XUY)

Question Number : 106 Question Id : 698177415 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The sum of 3 expreseions ie 12y — 10x* 4+ 9xy. Two of them are 2y* — 7x% + Sxy
and 6y* 4+ xy — 3x°, then the third expression is:

Srth #irare ando 12y? — 10x° 4+ 9xy oS Toth weimaren 2y? — 7x% + Sxy
500 6y? + xy — 3x?%, wond FrEs Brko:

Options :

1 % 4y® + 3xy — x*

> 3xy + 4y?

-

3xy + dy® — x°

3xy — 4x*

Question Number : 107 Question Id : 698177416 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The floor of the room conaziste of 90 tiles which are rhombue shaped. The diagonals
of each of the tiles are 12em and 16em. If cost for polishing the floor tilee per cm?
iz 3, then the total cost of poliching the floor tiles is:

28 H00° Jo PO SHSHNEsEes” &5 90 B, sHhiad smon. LEE; 86 awy)

1
==

[+

v e
,‘étjlfs): 12 20.50. 500c 16 20.80. 8.8 S555% Dodidned aF°e;0 He Joid ook Jdnt

Options:
— 225,920

, % ¥51840



73640

4 % 17280

Question Number : 108 Question Id : 698177417 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

[
| —_— o :
\ 124+ +vV12+V12+ ..........= x. then the positive value of “x’ is:

[
| e : s 2
\ 124412+ 124 .......... = x, oos) “x’ T8 GarddB Dendd:

o -

.

Options :

I~

Question Number : 109 Question Id : 698177418 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



A hostel hae food stock for 350 people for 100 days. If 150 more people join the
hostel, then the number of daye food iteme will last is:

o (Y]

2.8 2388 Hyprod” 350 shob e 100 Farols H0H0 @Bl Tare des Bold, & 508

Kysroe® eiiSore 150 0 D65, @ 8HE rare Jeo; o), Owve 55% $oSkH0h:
Options :

1. % 48

3 % 060

4%/?{}

Question Number : 110 Question Id : 698177419 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

13 & a l+cos8)(1—cosd)

If sec = —where 0 < @ < 90 then ( ) ==
1z (1+sin#)(1-sin8)

. . 13  (1+cos@){1—cos8)

0 <8 <90,secld = — wona : o

12 (1+s5in8){1-sin #)

Options :

144

1 % 169
5

o % 12
25

3 @ 144



23

4 % 169

Question Number : 111 Question Id : 698177420 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
The number of the terme in the szeries ‘»‘E, 5, SM'E, 25, ... e ., 625 are:
V5,5,5V5,25, ... ..., 625 @&° dmre Sogy:

Options :

1.+ 8

Question Number : 112 Question Id : 698177421 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Choose a number from the following which is NOT divisible by 11.

Bob ar8s® ol 113 DFore erhodadl Konid JoHE s,

Options :

20000002



, % 6138968

3 901352

4 % 432790

Question Number : 113 Question Id : 698177422 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The length of a rectangular park is 60 meterz and its breadth iz 40 meters. Two
croserpads, each road with a width of 6 metere, cut the center of a rectangular
park and are parallel to ite sides, then the area of the croesroads [:in BQ. meters) 13:

o8 BF SHERrTS St aE), PuD, Deyen SHBT 60 e HockH 40 . B

fhere Sirodtor 6 Eméuiim Stien, o Dotd 5°9 oty dieriiod® &850 poloE™d

o

Diforr A0,030858). wowd 00 erero (S68h Hhade®):
Options :

| % 1056

Question Number : 114 Question Id : 698177423 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

If simple interest iz caleulated at 12% per annum, then the time required for
TE250 to become T10,725 i=:

12 % &rprles B?:-éw TN, T8250 wodzrernl 710,725 saysob:
Options :

2 yeare 3 months

1. % 2 Sosdore 3 Jeoen

2 years 6 months

¥ e Yo Sy
£ n.lua-éh;lc"&- 6 Teexn

2. %
2 years 9 months
3 % 2 Hoaddre 9 Jeen
L )

2 yeare 8 months

Question Number : 115 Question Id : 698177424 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Identify the characteristicz of “objectives of learning mathematics” among the
following:

Bob &P Kedd offiis ogre efmroid hoodol:

A) Theze are not broad as aims, but specific.
58 60FeD D58 55, HOHDVI.

B} Exzpected gutcomes of these can be gbtained within a year in mathematics.
feddos® 98 wodd Hdoren SosE 0o S rrd fPodHD,.

C) These can be easily obeerved or measured.

DB Hoenre H04D0I5N, Bor Foisd,.

D) These give directions to the educational system.
85 8oy St BEERTE0 Jaton.

Choose the correct answer:

i < £ ' '_‘_-"'H
0N BaraoiD Q0B 0l

Options :

A, Bé& Conly
1 ¢ AB&Cirgad

B, C & D only
5 % B, C & D smgan

A, B& Donly
3 % A, B & Dimgah
4« ABC&D

Question Number : 116 Question Id : 698177425 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



The phase in 5E-Learning model, where “teacher createe extra work and
activities in mathematice o the students to improve their skills more through new

experiences” is:

Explore

Fhodtso / edhodto

Explain

f@sodeo

Elaborate

4« DEbssoSto

Question Number : 117 Question Id : 698177426 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Read the following pairs related to “material in the mathematics box and
activities that can be done with them".

“e3d DALSE e, S TADRON §yE7e” B HSo00fod Sob aded StHod,

A) Abacus: Place valuee can be taught.

BErRD R0 O-Qﬁiflii:[:;.

[

grite Sio: if;
B) Doming carde: The perimeter and area of a circle can be caleulated.

a0 3°Ei¢ &ydo Gw,) < -‘-E}j?@é.@ﬁ“ﬂﬂgﬁ& 08, 05650,
C) Fractions disc: It can be shown that as the value of the denominator

decreases, the value of the fraction increases.

-.'-J-.:u

e L,E._.D P80 Dendd E‘?ﬁh" g.:& L@.J% 0 fend DDIDLoSD J’éiﬁ“ﬁ};

D) Cuizenaire Stripe: Addition and subtraction of whole numbers can be done.
S RRANE Sden: Grorosre Kodes, Hitomrei b,

Choose the correct pairs,/ answer:

{08 axdden /e3aranil) Q00E 08

Options :

B & D gnly

B & D smisah
1. %

A, B & Conly
5> % A, B & C 5rgch

A, C & Donly

3¢ A, C& Dirga

+ ABC&D

Question Number : 118 Question Id : 698177427 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Read the following statemente related with teaching and learning plan:

ﬁmmﬁgéé EerdEs Soodos ol armpreih Stbod:

A) By writing a unit plan, all the topics can be taught in a sequential order.
g5mRE o Trahito So o) FreroEreid S Bvod® SiHoSH,,

B) Writing a period plan allowe teaching to continue without loss of time.
H05HE HE80 TEDE0 Ho ToiFrdno FHOT I FITROSSND,

Choose the correct anawer:

HO® BSrErd) Qoihetol:
Options:

A ig true and B is falze

A 40 s0bcin B eiEo

A iz falze and B i= true

A w380 D66 B 80

A and B are true

A 50005 B en 80

3.¢
A and B are false
4 % A 50050 B en @580

Question Number : 119 Question Id : 698177428 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

“Slope of a straight line parallel to 4x - 3y + 2 =0 iz —é. State whether it iz
Falee or True”. This type of question is:
“4x - 3y + 2 = 0 % Saroddorr Ko $560 ares —=. 8O 837 B adr) Beokod.” b,

& BEDS BEy:
{+ - o

Options :



Objective type question

ro =3

Very short answer type question

2. %

Short anewer type question
3 % HOSE HIPTER @4,

Long answer type question
. BE BEPeeS 5%

Question Number : 120 Question Id : 698177429 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Arrange the following topies in sequential order on the baeis of their difficulty and
logical order to introduce in different classes in the “Concentric Approach”.
8oB wosred “DE oS DprRo” &° DI SSNHed® HIFDETNE o BXE SO &v0y8

o sgrdorr Singiod® el ol

b

] Real numbers
aPia) ROR)ED

B} Integers
':.'j,mgzﬁoa;;e::

C)  Whole numbers
bﬁ,mtg;[h‘a'-'m

D) Enowing our numbers
Hogye HBSAho

E)  Rational numbers
wEEadD fiomen

Chooee the correct order/ anewer:

$O8 Eardy/ Srrrard) dohEod:
Options :

. % BDACE

5 D.C.B,E. A
3 % D.C,E. A B
4 % EBCAD
Science
Section Id : 69817715
Section Number : 5

Section type : Online



Mandatory or Optional : Mandatory

Number of Questions : 30
Number of Questions to be attempted : 30
Section Marks : 30
Enable Mark as Answered Mark for Review and

Clear Response: ves
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 69817724
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 121 Question Id : 698177430 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Halley's comet will be visible again in the vear

w0 8% 3%, e S $odE508 Ednihiod
Options :

P
1 % 2026
2052

3 2062

4 % 2076

Question Number : 122 Question Id : 698177431 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Unit of relative density is

FHE Sroid Gng; Harso
td, ir =
Options:

it has no units

EDE Eimeres S05D

Jem

./ wo.sh.”

Eg/cm

& . /2083

N/ m?

4 % g/ ao?

)

Question Number : 123 Question Id : 698177432 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The number of images that can be formed if we make two holes in a pinhole
camera

8080 BREF S S Totd Sogren D7 wfG BHé&doare Hogy

Options :



(]

Question Number : 124 Question Id : 698177433 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The value of univerzal gravitational constant

D%; ot B

LS

C'Oé o D_,-:JJE:" D_--?_}:CI\:
&
(=,

L)

Options:

1 % G=6.67%x 107 Nmikg?®

> G=6.67%x 107 Nmikg?®

3 G=6.67XxX 10" Nmkg?
G =6.67 x 10'* N m?kg™?

4, ®

Question Number : 125 Question Id : 698177434 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Identify the INCORRECT statement among the following with respect to
Kirchhoff's laws of electric circuit.
&o=\5 GOng; DS Hodd AdhEre sonodod Bob add® K80l arsD HooSod.

T

Options:

The potential difference acroze the resiztor iz taken as positive when we
move along the direction of electric current through the resistor.

D8 parsr BISE DB o Howe EBBLE, D ol FEIeHS o FordSom
e o,

Sz el
1« Sxostard),
Kirchhotf's Loop law iz based on the conservation of energy.
® éUD_‘E Q_-QJ"':'E Edﬁjéﬂﬂ 'Erg ﬁé_-'ﬁ;c?ci Emééﬁllﬁ '&DEIO&.
2. % g

Kirchhoff's Junction law ie based on the conservation of charge.

&0 5 2088 chidio siere A8:8:00 ednd 0tnob.

3. % i
The algebraic sum of the increases and decreazes in potential difference
acrpes varipus components of a closed-circuit loop must be zero.
8.8 SR Socod® HoETre Tod Dibe &k TBRDS Frres® dbie,

) w Shee Gng; 2460 ango &0

Question Number : 126 Question Id : 698177435 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Froth flotation iz ueeful for sulphide ores because

B85 ©8aD 9,8 e wiiroo aohgod

Options:



they have no wetting property

8 38 ©ddy; Hwo B

1.9
the impurities get dried
e 5hEren QoldEBaEron
2. %
the impurities settle at the top
3 % T8 D0 periost bYsEEron

ore can be zeparated by handpicking

B AP o e L [ gt =5 e
TEpH $88° Dot o H DehHD,

Question Number : 127 Question Id : 698177436 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Thie is NOT formed by the phyzsical mixing of two substances

Coth BiTrTre 788 Soont oo 25)ERG

Options :

Mixture

L
aliBen0

Solvent

Eie

Solute

3 % [CFaleio
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In the chemical reaction Na,C0; + 10H,0 — Na,C0;.10H,0,
Na,C0,.10H,0 is
Na;CO0s5 + 10H,0 — Na,C05. 10H, 0 53¢508 S35:5° Nay€05. 10H,0 ©ids
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The iron nail dipped in copper sulphate solution becomes brown. Thisis a
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Chemical Combination reaction
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Chlorine isotopee occur in nature in two isotopie forme with maessee 35 units and
37 unite. The izotope with masa 35 1z 75% and the isotope with maes 37 iz 25%
prezent in nature. Then the average atomie maes of the chlorine atom is
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Identify which 18 NOT a Dobereiner triad among the following
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Options:

Li, Na, K

Ca, Sr, Ba

Cl, Br, 1

Mg, Cr, Fe
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The hybridization of BF3
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The enteric nervous system enables us to ‘feel’ the inner world of our gut and its
contents because of the presence of —
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Minamata disease which was firet diseovered in Minamata eity of Japan was
caused as a result of polzoning when the people ate ghell fish which are bio
accumulated with this toxie chemieal
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Read the following statemente

Sobh argmoih dtsnod

A}  The arteriee are the blood vessels with thick walle which originate from the
heart and supply blood to various organe in the body.
Fivdoen 00T ol &5N00 050N DD widbired Tl SSFCe Td
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B} The two atria and the two ventricles are separated from each other by
mugcular partitions called valves.
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Choose the correct answer:
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Both ‘A’ and ‘B’ are correct
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Both ‘A’ and ‘B’ are incorrect
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Only ‘B’ is correct
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The ‘Climate’ of a particular place iz determined by considering the average

weather patterns of that place (temperature, rainfall, humidity and wind speed)

taken over for a ‘long time’. The term ‘long time’ refers to
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One of the following iz NOT a procees involved from obtaining wool to producing
woollen fabrie.
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The primary respiratory organs in cockroaches are
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Male gamates/sperms are produced in this part of the male reproductive eystem
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Diversze and specific zpeciee of flora,/fauna that grow particutarly in a particular
area are called epeciee of that area.
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CFCe are released from ACs, refrigerators and aergsol spraye and causze depletion
of Ozone layer reeulting in Global warming. ‘CFC’ stands for
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Saprochytes-microbes that decompoese dead organisims are
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Nitrogen cannot be uzed by plante and animale in its original form as present in
the atmosphere. The atmospheric Nitrogen iz hence converted into certain
compounds which plants can take from soil. Which of the following bacteria help
in this bio chemiecal procees of conversion?
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The only organ in gur body that can float is
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Stomach
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In problem solving approach, teacher is a
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Teaching and Learning process basically related to
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As per the recommendations of NCF-2005, at this level, students should be
engaged in learning science as a compoeite diseipline.
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In an experiment conducted to see the effect of intermittent fasting on weight
reduction in men and women, intermittent fasting is
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The third step in the 5E's instructional model for constructivism developed by
Roger Bybee
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When a test measures what it aims to measure it is gaid to be
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